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Answer any fwo questions 12x2 =24
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1. (a) Solve by Cramer’s Rule 6
X+y+z=6
2x-y+3z=9
x+3y-2z=1
-2 3 1
by If A=| 1 -1 2 |, find 4> -44+5]. 6
32 -1
5
2. (a) Evaluate j (x? +2x) dx. 6
3
(b) Evaluate (i) | M (ii) [¥3x+2dx 343
x“+3x+5
3. (a) Evaluate lim Jx =3 . 4
x—9 x —
(b) Evaluate lim IHx—vl-x ) 4
x—0 X
(c) Discuss the continuity of f(x) at x =4 where f(x) =2x+1, x=#4 4
=8 , x=4
4. (a) Which sum will become 1,00,000 in 4 years at 10% p.a. compound interest, 6
payoff half-yearly?
F© BiFl AR 10% Srgfan 707 R (37 -3ifE &ted) 4 =@ 21,00,000 23 2
(b) Sri Sudip targeted to buy a building at I15,00,000 after 6 years. He decided to 6
deposit a fixed amount every year at 12% p.a. compound interest to accumulate
the amount. Find the amount of deposit p.a.
& a7l 6 I=A AW 15,00,000 5 M@ @ AT @7 o7 %7 3@ (7 alfoqms
12% S&jfa 27 Jm @& e s o o w1 g 07 | afoq=a wwige ol
sifetiel fer 1
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5. Answer any four questions: 6x4 =24
@-(FE BIFD 207 Ted mies
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I -1 -1 2
(@) 4= , B= , find 4B. 6
-1 1 -1 2
(b) y=x*+5x+2, differentiate w.r.t x°. 6
2 pa—
©) If f(x)= xz;m find, if possible, £(2) and f(=5). 6
x"=8x+12
(d) Find the present value of an Annuity of 32,000 at 6% p.a. compound interest for 6
5 years.
2,000 5% IHF 6% brdfan 217 o @ ARSI I8N 361 ez 741
(e) Evaluate .[ e’ -xdx. 6
(f) If u =log(x* + »*), then find AU ond 6
dx dy
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6. Answer any four questions: 3x4=12
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(a) In what time will a sum of money be double itself at 5% p.a. compound interest? 3
T A (FS =L 5% AF vagim 29 J fawe 27 9

(b) Find 47" from the following 3

-2 1

A= :
30
2 f— f—
(c) Evaluate limw . 3
x—2 x—=2

(d) Evaluate I x+/x dx. 3
() If y=3ar’ and x=4¢>, find dy/dx . 3

W

(f) The total cost function of a company is 7C = 4x* — 6x +100 . Find marginal cost function.

X
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